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PAPER CODE : TNTET-1

Total question : 150   Time Period : 90 minutes        Maximum Marks : 150

Part Contents No. of  
Questons

I Child Development and Pedagogy 30 1 30 3 12
II Language I (Only One Language)

As selected by the candidate as medium of 
instruction in the Application form from the 
Language given below:

30 31 60

Tamil 30 31 60 13 16
Telugu 30 31 60 17 20

Malayalam 30 31 60 21 26
Kannada 30 31 60 27 30

Urdu 30 31 60 31 34
I I I Language II - English 30 61 90 35 40
IV Mathematics 30 91 120 41 52
V EVS 30 120 150 53 64

Question Nos.
From FromTo To

Page Nos.

Read the instructions in English  & Tamil at Page No. 32, Last page of this booklet.
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ð°F&I

PART&I

°ö‰¬î «ñ‹ð£´ ñŸÁ‹ èŸHˆî™

CHILD DEVELOPMENT AND PEDAGOGY

There are 30 questions in all in this part. All questions are compulsary
ÞŠð°FJ™ 30 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

1.  ÝCKò˜ â¡ø õ®M™ &&&&&&&&&&&& Þ¶ êKò£ù àK„ªê£™ô£°‹,

 Ü) ªðKòñQî˜     Ý) CøŠ¹ õ£Œ‰î ªî£N™ 

 Þ) Ü¬ñFò£ù ªî£N™    ß) õêFèœ

 ___________ is the most appropriate adverb for teaching profession.

 a) Gentleman     b) Noble profession 

 c) Peaceful Job    d) Respectable profession

2.  èŸHˆî¬ô «ñ½‹ CøŠð£‚è&&&&&&&&

 Ü)  ÝCKò˜ åL& åO àðèóíƒè¬÷ ÜFè‹ ðò¡ð´ˆ¶õî£™ 

 Ý) ÝCKò˜ ²ˆîñ£è ð£ì‹ ïìˆ¶õî£™

 Þ) ÝCKò˜ åLªð¼‚A¬ò ðò¡ð´ˆ¶õî£™ 

 ß) ÝCKò˜ Cô àî£óíƒè¬÷ â´ˆ¶‚ ÃÁõî£™ 

 A teacher should __________ to make teaching more effective.

 a) use audio visuals    b) teach loudly

 c) use mike     d) give some examples

3.  ÝCKò˜ èŸHˆîL™ â‰î º¬øJ™ ñ£íõ¡ ðƒ°ªðø G¬øò ê‰î˜Šð‹ ãŸð´‹ 

 Ü) Ýó£Œ„C º¬ø    Ý) àœ& ªõO º¬ø

 Þ) «èœM Mù£& M¬ì º¬ø  ß) ð°Šð£Œ¾ º¬ø

 _________ method of teaching students gives more opportunity for student participation.

 a) Research     b) Blackboard 

 c) Question – answer    d) Analytical

4.  å¼ Cø‰î ÝCKò˜ â¡ðõ˜ 

 Ü) üùï£òèõ£F     Ý) ªêò™ð´º¬ø èŸHŠðõ˜ 

 Þ) ªè£´ƒ«è£ô¡     ß) ê˜õ£Fè£K

 A good teacher is a ___________.

 a) democrat     b) indulgent 
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 c) autocrat     d) dictator

5.  ªî£ì‚è ÝCKò˜ &&&&&&&& õNò£è èŸHˆî™ «õ‡´‹ 

 Ü) ÝƒAô‹     Ý) U‰F 

 Þ) î£Œªñ£N    ß) «îCòªñ£N

 Medium of instruction at the primary level should be _____________.

 a) English     b) Hindi 

 c) Mother tongue    d) Regional language

6.  ðœO ÝCKòK¡ Iè º‚Aòñ£ù ªêò™ &&&&&&&&&& Ý°‹ 

 Ü) êˆîñ£è «ð²õ¶ 

 Ý) Cø‰î MK¾¬ó ÃÁî™ 

 Þ) ñ£íõ˜è¬÷ èŸðF™ á‚èŠð´ˆ¶î™ 

 ß) «ñŸÃPò â¶¾I™¬ô

 The most important function of a school teacher is to ________________

 a) speak loudly    b) give good lectures

 c) encourage students to learn   d) none of these

7. ðœOJ™ ð£ìƒè¬÷ èŸÁ‚ î¼‹ ªð£¿¶ â‰î Ýî£ó ªð£¼†è¬÷ ¬õˆ¶ ïìˆ¶õ£Œ

 Ü) ï£«÷´ ñŸÁ‹ ðˆFK¬èèœ   Ý) èŸHˆî™ àðèóíƒèœ  

 Þ) ð£ìŠ¹ˆîè‹     ß) Ýî£ó¹ˆîè‹ 

 _______________ is one of the resource materials a teacher will prefer for teaching in schools.

 a) Journals and magazines   b) Teaching aids 

 c) Text books     d) Reference books

8.  ñ£íõ˜èO¡ ñFŠ¬ð ªðø «õ‡´ñ£ù£™, ÝCKò˜ &&&&&&&&&&& «õ‡´‹ 

 Ü) ñ£íõ˜è¬÷ ðòºÁˆî «õ‡´‹  

 Ý) ñ£íõ˜èOì‹ Þ¼‰¶ ªõ°Éó‹ Þ¼‚è  «õ‡´‹ 

 Þ) õNè£†®ò£è, îˆ¶õõ£Fò£è ñŸÁ‹ ï‡ðó£è¾‹ ðƒ° ãŸè «õ‡´‹ 

 ß) «ñŸÃPò Ü¬ùˆ¶‹ 

 To get respect from students, the teacher should _____________.

 a) threaten students to give respect  

 b) keep distance from students

 c) play the rold of guide, philosopher and friend d) all the above
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9.  ‘Mvõð£óF’ å¼

 (Ü) ðœO     (Ý) ªî£N™ê£˜ GÁõù‹

 (Þ) ªî£NŸðJŸC ¬ñò‹   (ß)  ð™è¬ô‚ èöè‹

 Vishwa Bharathi is a 

 (a) School     (b) Technical Institution 

 (c) Carrier centre    (d) University

10 àì™ õ÷˜„C «õèñ£è ï¬ìªðÁ‹ ð¼õ‹ â¶-?

    Ü) °Áï¬ìŠð¼õ‹            Ý) C²Šð¼õ‹     

 Þ) °ñóŠð¼õ‹      ß) ðœOŠð¼õ‹ 

        In which stage is the Physical growth is rapid 

       A) Early chilhood              B) Infancy          

 C) Adolescence             D) School age 

11.  ¸‡íP¾ °Pˆî ð™ðKñ£í‚ ªè£œ¬è¬ò„ ªê£¡ùõ˜

 (Ü) H«ù ¬êñ¡    (Ý) ¬ôè£†

 (Þ) î˜vì¡     (ß)  Hò£«è

 ______developed a multidimensional theory of intelligence

 (a) Binet Simon    (b) Likert

 (c) Thurstone     (d) Piaget

12.  Þ‰Fò ÜóCòô¬ñŠ¹„ ê†ì‹ 48 H¡õ¼ñ£Á ªê£™Aø¶.

 (Ü) â™«ô£¼‚°‹ «õ¬ô   (Ý) â™«ô£¼‚°‹ º¡ÂK¬ñ

 (Þ) â™«ô£¼‚°‹ â™ô£º‹  (ß)  â™«ô£¼‚°‹ è™M

 Article 48 of Indian constitution says 

 (a) employment for all    (b) empowerment for all

 (c) everything for everyone   (d) education for all 

13.  ¹Fò è™M‚ ªè£œ¬è 1986J¡ ¹¶¬ñ Ü‹êñ£èŠ è¼îŠð´õ¶

 (Ü) Þìïè˜¾Š ðœOèœ   (Ý) èQE è™M

 (Þ) ï«õ£îò£ ðœOèœ   (ß)  Þó£µõŠ ðœOèœ

 The Innovative Aspect of New Education Policy, 1986 is 

 (a) Mobile Schools    (b) Computer Education

 (c) Navodaya Schools    (d) Sainik Schools
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14.  Üèºè¡, ¹øºè¡ ÝA«ò£ó¶ Þò™¹è¬÷ M÷‚Aòõ˜ 

     Ü) «è†ì™       Ý) äê¡‚    

 Þ) ªè‹Š          ß)  »ƒ

     Personality traits such as introvertism and extrovertism personality was explained by 

      A) Cattell                B) Eysenck       

 C)kempt              D) Yung

15.  °ö‰¬î¬ò °ö‰¬îò£è è¼î «õ‡´‹ â¡Á ÃPòõ˜

     Ü) Ï«ê£         Ý) ªõ‚vô˜    

 Þ) H«ù        ß) è£‚«ù

      “Child should be treated as child” - was said by 

    A) Roussoue             B) Weachsler         

 C) Binet             D) Gange

16.  Ý™Hó† Ý†ô˜ ................ â¡Â‹ è¼ˆ¬îˆ «î£ŸÁMˆî£˜.

 Ü. å®Šðv C‚è™    

 Ý. î£›¾„ C‚è™

 Þ. ñù ïô‹   

  ß. ð‡ð£®¡¬ñ

 The concept of ........................ was introduced by Alfred Adler.

 A. Oedipus complex   B. Inferiority complex 

 C. Mental health    D. Boorish and coarse

17.  ðLèì£ Ý‚èŠð´î™ â¡ð¶ ........... îŸè£Š¹, ïìˆ¬î.

 Ü. è£óí‹ èŸHˆî™    

 Ý. Üè«ï£‚°ì¬ñ

 Þ. ß´ªêŒî™   

 ß. Þìñ£Ÿø‹

 Scapegoatism is an example of

 A. Rationalisation    B. Introversion 

 C. Compensation    D. Displacement

18.  H÷£‡ìK¡ Þ¬ìM¬ùŠ ð°Šð£ŒM™ Þì‹ ªðø£î¶

 (Ü) ªðŸ«ø£˜ «ð„²    (Ý) ñ£íõ˜ «ð„²
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 (Þ) Ü¬ñF Ü™ô¶ °öŠð‹  (ß)  ÝCKò˜ «ð„²

 Flanders interaction analysis does not include the area

 a. Parent’s talk     b. Pupil’s talk

 c. Silence / confusion    d. Teacher’s talk

19.  à†è£†C õN‚èŸø™ ÞîÂì¡ ªî£ì˜¹¬ìò¶

 (Ü) É‡ì«ô ¶ôƒè¬ô b˜ñ£Q‚Aø¶

 (Ý) ¶õƒè«ô É‡ì¬ô b˜ñ£Q‚Aø¶

 (Þ) îQˆîQò£èŠ ð£˜Šð¬îMì º¿¬ñò£ù à¼õ«ñ Ü˜ˆîºœ÷¶

 (ß) Ýòˆî MF

  Insight learning is related to

 a. Stimulus determines response  b. Response determines stimulus

 c.Whole is more meaningful than parts  d. Law of readiness

  

20.  G¬ùM¡ º‚Aò Þó‡´ õ¬èèœ   

      A) STM and LTM       B) ATM and GTM       

 C) LTM and ATM             D) ATM and STM

            The two types of memory are 

           A) STM and LTM       B) ATM and GTM       

 C) LTM and ATM             D) ATM and STM

21.  âF˜ñ¬ø‚ è™M¬ò ðK‰¶¬óˆîõ˜

 (Ü) è¬ñù˜     (Ý) Ï«ê£

 (Þ) Hò£«ü     (ß)  è¾™

 The Negative education was recommended by

 a. Gemeiner     b. Rousseau  

 c. Piaget      d. Pragmatist 

22.  W›‚è£‡ð¬õèÀœ â¶ ¹øˆ«îŸÁ ̧ ‡º¬ø Ü™ô?

 Ü. «ó£˜û£‚ ¬ñˆîì «ê£î¬ù    

 Ý. õ£‚Aò‹ GóŠð™ «ê£î¬ù

 Þ. ªê£Ÿèœ ªî£ì˜¹ «ê£î¬ù   

 ß. èõ˜„C Ü÷¬õ º¬ø
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 Which of the following is not a projective technique?

 A. Rorschach ink - blot test   B. Sentence completion test 

 C. Word association test    D. Interest inventing test.

23.   VIBGYOR â¡ð¶ &&&&&&&&&&& â¡ðîŸ° å¼ Cø‰î â´ˆ¶‚è£†´

     Ü) ²¼ƒè‚ èŸø™       Ý) G¬ù¾ ÅˆFóƒèœ   

 Þ) âOòèŸø™       ß) «ñ£Q‚v

 VIBGYOR is a good example of 

        A) abbrevation     B) Mnemonics            

  C) easy learning             D) monics

24.  å¼õK¡ ÝÀ¬ñ‚ «è£÷£ÁèÀ‚° Ü®Šð¬ìò£è Ü¬ñõ¶ 

    Ü) ñùªõ¿„C ÜF˜¾èœ       Ý) ñù àí˜„Cèœ  

     Þ) ñùñA›„C               ß) ñùïô‹ 

   One’s personality disorder is based on 

     A) Emotional shocks                       B) Silple feelings        

     C) Emotional enjoyment                 D) Mentel health

25.  ºF˜„C â¡ð¶ ÝŸø™ ñŸÁ‹ î°FJ¡ õ÷˜„C âù ÃPòõ˜

 (Ü) î£˜¡¬ì‚    (Ý) ð£™´M¡

 (Þ) «è†ªì™    (ß)  â†M¡

 Maturation is an increase in competency and adaptability This was stated by

 a. Thorndike      b. Baldwin

 c. Cattell     d. Edwin

26.  F¼ˆFò¬ñ‚èŠð†ì ªî£NŸ èõ˜„CŠ ð†®ò™ ªè£‡´œ÷ à¼Šð®èœ 

 A. 300      B. 400

 C. 500      D. 100 

 The number of items in the revised Vocational Interest Blank is....

 A. 300      B. 400

 C. 500      D. 100

27.  W›‚è‡ìõŸÁœ ï™ô G¬ù¾‚° ãŸð ÜŸø ÜP°P â¶?

 (Ü) M¬ó¾     (Ý) G¬ø»‹ è£ôº‹
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 (Þ) ¶™Lò‹    (ß)  ðò¡ð´ˆî‚ Ã®ò î¡¬ñ

 Which of the following is not the sign of good memory 

 a. Rapidity     b. Mass and time

 c. Accuracy     d. Serviceableness

28.  ï†¹‹ ê‰«îèº‹ â¡ø ÃŸÁ‚° àKò¶

 (Ü) î¡ñFŠ¹ˆ «î¬õèœ   (Ý) ̧ ‡íP¾

 (Þ) ÝÀ¬ñ     (ß)  ð¬ìŠð£Ÿø™

 The term ‘ Friendly and Suspicious’ is related to

 a. Esteem needs    b. Intelligence

 c. Personality      d. Creativity

29.  ªõŠðñ£ù ï£O™ ã¡ ÜFèñ£è Mò˜‚Aø¶?

 (Ü) óˆîˆFL¼‰¶ ÜFèñ£ù àŠ¬ð ªõO«òŸø

 (Ý) Þ¼îò ¶®Š¬ð Yó£è ¬õˆF¼‚è

 (Þ) àìL¡ àwíˆ¬î Yó£è ¬õˆF¼‚è

 (ß) «î£¬ô ªê‹¬ñò£è ¬õˆF¼‚è

 Why do we sweat more on a hot day

 a. To remove excess salt from the blood   

 b. To maintain heartbeat at constant level 

 c. To maintain constant temperature of the body 

 d. To maintain skin tone

30.  àí˜„C M‡ì G¬ô â¡ð¶

 Ü. ïó‹¹ˆ î÷˜„C     Ý. ÝÀ¬ñ‚ «è£÷£Á «ï£Œ

 Þ. bMó à÷ˆî´ñ£Ÿø «ï£Œ   ß. à÷ - àì™ «ï£Œ

 Schizophrenia is

 A. psychoneuroses    B. personality behaviour disorder 

 C. psycroses     D. psychosonatic disorder

    A 2
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ð°F&II
îI›

ÞŠð°FJ™ 30 Mù£‚èœ àœ÷ù. Ü¬ùˆ¶ Mù£‚èÀ‚°‹ M¬ìòO‚è «õ‡´‹.

31.  õìªñ£N â¿ˆ¬î»‹ Høªñ£N‚ èôŠ¬ð»‹ î´ˆîõ˜ ò£˜?

 Ü. ióñ£ºQõ˜    Ý. è‹ð˜

 Þ. è£™´ªõ™    ß. «ê‚Aö£˜

32.  ÃìÖ˜ Aö£˜ ÞòŸPò cF Ë™

 (Ü) ï£¡ñE‚è®¬è   (Ý) º¶ªñ£N‚è£…C

 (Þ) CÁð…ê Íô‹    (ß)  ãô£F

33.  å¼ °®ŠHø‰î ð™«ô£¼œÀ‹

 Íˆ«î£¡ õ¼è â¡ù£¶ â¡ø Ü®èœ àœ÷ Ë™

 (Ü) Üèï£ÛÁ    (Ý) ðFŸÁŠðˆ¶

 (Þ) ¹øï£ÛÁ    (ß)  ð†®ùŠð£¬ô

34.  GôˆFÂ‹ ªðK«î âùˆ ªî£ìƒ°‹ ð£ì¬ô ð£®òõ˜

 (Ü) è‹ð˜     (Ý) î£»ñ£ùõ˜

 (Þ) ð£óFò£˜     (ß)  «îõ°ôˆî£˜

35.  ‘‘âù‚° Iè M¼Šðñ£ù Þô‚Aò‹ å¡Á à‡ªì¡ø£™ Ü¶ èLƒèˆ¶Š ðóE«ò” - âù 
ÃPòõ˜.

 (Ü) ÜPë˜ Ü‡í£   (Ý) è‡íî£ê¡

 (Þ) ²óî£     (ß)  è¬ôë˜

36. ªêòƒªè£‡ì£K¡ êñè£ôŠ ¹ôõ˜ ò£˜?

 (Ü) èHô˜     (Ý) ðóí˜

 (Þ) å†ì‚Ãˆî˜    (ß)  å÷¬õò£˜

37.   îõø£ù¬îˆ «î˜è

 1. ðó…«ê£F ºQõ˜ ï£¬è ñ£õ†ìˆF½œ÷ F¼ñ¬ø‚ è£†®™ Hø‰îõ˜

 2. F¼M¬÷ò£ì™ ¹ó£íˆFŸ° ªõƒèì£êô‹ à¬ó â¿F»œ÷£˜.

 3. F¼M¬÷ò£ì™ ¹ó£í‹ ºŠªð¼‹ ð°Fè¬÷»‹ ðìô‹ â¡Â‹ ÜÁðˆ¶ ï£¡° 
à†HK¾è¬÷»‹ à¬ìò¶.
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 (Ü. 1 ñ†´‹     Ý. 2 ñ†´‹

 Þ. 3 ñ†´‹     ß. ÞõŸP™ ã¶I™¬ô

38.  î°F õö‚°ˆ ªî£ì˜¹ Þ™ô£î ªê£™¬ô‚ è‡ìPè.

 Ü. Þì‚èóì‚è™    Ý. ñÏà

 Þ. °Øà‚°P    ß. ñƒèô‹

39. ªð£¡QJì‹ «î¡ªñ£N î£¡ ñÁï£œ ñ¶¬ó‚°„ ªê™õî£è‚ ÃPù£œ \- âšõ¬èˆ ªî£ì˜?

 (Ü) «ï˜‚ÃŸÁ    (Ý) ÜòŸÃŸÁ

 (Þ) âF˜ñ¬ø‚ ÃŸÁ   (ß)  èô¬õˆ ªî£ì˜

40.  H¡õ¼õùõŸÁœ, ‘Þ¼ªðòªó£†´Š ð‡¹ˆªî£¬è’ ªê£™ â¶?

 (Ü) èHôðóí˜    (Ý) èò™MN

 (Þ) ñ™L¬èŠ Ì    (ß)  ªõ‡Eô¾

41.   “Fó£Mì‹” â¡Â‹ ªê£™¬ô ðò¡ð£†®Ÿ°  ªè£‡´ õ‰îõ˜

  (Ü)è£™´ªõ™     (Ý)ñ£˜«è£«ð£«ô£

  (Þ)ióñ£ºQõ˜     (ß)ªðKò£˜

42.  ªê‹ªñ£N‚è£ù «è£†ð£´èœ âˆî¬ù?

  (Ü)10      (Ý)15

  (Þ)25      (ß)11

43.  è£™´ªõ™ â¿Fò Ë™ â¶?

 Ü. Fó£Mì ªñ£NèO¡ åŠHô‚Aò‹ Ý. Fó£Mì ªñ£NèO¡ åŠHô‚èí‹

 Þ. Fó£Mì ªñ£NèO¡ Þô‚èí‹  ß. ªî¡Fó£Mì ªñ£NèO¡ åŠHô‚èí‹

44.  ªð£¼À‚«èŸø M¬ùñó¹èO™ êKò£ùõŸÁœ îõø£ù¬îˆ «î˜è

 1. «ê£Ÿ¬ø à‡´ ðöˆ¬î ê£ŠH†ì£¡

 2. Þó£ñ¡ ð£¬ô‚ °®ˆ¶M†´ îJ¬ó H¬ê‰î£¡

 3. ð£óFò£˜ èM¬î ÞòŸPù£˜

 4. ñ£ô£ c˜ °®ˆ¶M†´ «è£ô‹ Þ†ì£œ
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 Ü. 1 ñŸÁ‹ 2    Ý. 3 ñŸÁ‹ 4

 Þ. 1 ñŸÁ‹ 3    ß2 ñŸÁ‹ 4

45.  ªïˆF «õ˜¬õ C‰F«ù£«ñ ºˆ¶ ºˆî£è & Ü¶

 ªï™ ñEò£Œ M¬÷…C¼‚°‚ ªè£ˆ¶‚ ªè£ˆî£è” & ÞŠð£ì™ õKèÀ‚° àKòõ˜ «î˜è:

 Ü. èMë˜ º®òóê¡    Ý. èMë˜ è‡íî£ê¡

 Þ. ñ¼îè£C     ß. à´ñ¬ô ï£ó£òíèM

46.  Å›M¬ù¬ò c‚°‹ ¬è â¡Á‹ G¬ô‚°‹ ¬è. c-ÇN & è£‚°‹ ¬è

 è£ó£÷˜ ¬è” & â¡Á ð£®òõ˜

 Ü. å†ì‚èÃˆî˜    Ý. F¼ˆî‚èˆ «îõ˜

 Þ. èMòó² è‹ð˜    ß. ¹è«ö‰FŠ ¹ôõ˜

47.  æMòƒèœ õ¬óõîŸªè¡Á îQ«ò Þìƒèœ Ü¬ñˆF¼‰îù˜ & ÜšMìˆFŸ°Kò 
ªðò¬óˆ «î˜è:

 Ü. CˆFóê¬ð    Ý. â¿ªîN™ Ü‹ðô‹

 Þ. æMò âNQ    ß. ¹¬ùò£ æMò‹

48.  ªð£¼ˆ¶è :

 ªð£¼ˆîñ£ù Þ¬ìG¬ô¬òˆ «î˜è.

 (Ü) õ¼õ£¡                    1. Þø‰îè£ô Þ¬ìG¬ô

 (Ý) è£í£¡                    2. Gè›è£ô Þ¬ìG¬ô

 (Þ) ð£˜ˆî£¡            3. âF˜è£ô Þ¬ìG¬ô

 (ß) ïì‚Aø£¡            4. âF˜ñ¬ø Þ¬ìG¬ô

  (a) (b) (c) (d)

 (Ü) 3 4 2 1

 (Ý) 4 1 3 2

 (Þ) 3 4 1 2

 (ß) 1 2 4 3

49.  “â¡ H¬öŠ¹‚ ªè†ì¶” & âšõ¬è Ý°ªðò˜ ªðò˜ «î˜è

 Ü. è£Kò Ý°ªðò˜    Ý. è¼M Ý°ªðò˜
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 Þ. îQò£° Ý°ªðò˜   ß è¼ˆî£ Ý°ªðò˜

50.  ªð£¼ˆ¶è

 1. ªï£„CˆF¬í  .................   Ü. ªõŸP ªðŸø ñ¡ù¬ù ¹è›î™

 2. àN¬ëˆF¬í ...............   Ý. ð¬èió˜ Þ¼õ¼‹ ªõŸP «ï£‚A‚ «ð£°î™

 3. ¶‹¬ðˆF¬í  .................  Þ. î¡ ñF¬ô è£ˆî™

 4. õ£¬èˆF¬í  ..................  ß. «õŸÁ Üóê¡ ñF¬ô ¬èŠðŸÁî™

 °Pf´èœ

  a b c d 

 Ü. 3 1 2 4 

 Ý. 2 4 3 1 

 Þ.. 2 1 4 3 

 ß. 3 4 2 1

51.  òõù˜ â¡ðõ˜èœ ò£˜?

 (Ü) A«ó‚è˜, à«ó£ñ£Qò˜   (Ý) «ó£ñ£Qò˜, òõù˜èœ

 (Þ) A«ó‚è˜, ð£ôvFEò˜   (ß)  ð£ôvFQò˜, âAŠFò˜

52.   «êóî£‡ìõ‹ â¡ø Ë™ ÞòŸPòõ˜

   (Ü) ð£óFò£˜     (Ý) ð£óFî£ê¡  

   (Þ) õ£Eî£ê¡     (ß) ï£ñ‚è™ èMë˜ 

53.  Þô‚Aò„ ªêŒFè«÷£´ ÜPMò™ ¶¬øŠªð£¼œè¬÷»‹ ºî¡ ºîô£è„ «ê˜ˆ¶ M÷‚è‹ 
î‰î Ë™ â¶?

 (Ü) ÜHî£ù «è£ê‹    (Ý) ÜHî£ù C‰î£ñE

 (Þ) M«õè C‰î£ñE   (ß)  Yõè C‰î£ñE

54.  Ü«ò£ˆFî£ê˜ â¿Fò ËL¡ ªðò˜

 Ü. °P…CˆF†´        Ý. Þ‰Fó«îê êKˆFó‹

 Þ. ñ£ƒèQ              ß. ªè£Œò£‚èQ

55. îõø£ù¬îˆ «î˜è
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 1. õ÷õ¡ ðö‹ à‡ì£¡   2. M®òŸè£¬ôJ™ «êõ™ ÃMò¶

 3. °ö‰¬î ð£™ ð¼Aò¶   4. Þ¶ «õŠð‰î¬ö ¶¬õò™

 5. èMë˜ èM¬î â¿Fù£˜

 Ü. 1 ñŸÁ‹ 2    Ý. 3 ñŸÁ‹ 4

 Þ. 1 ñŸÁ‹ 3    ß.. 1 ñŸÁ‹ 5

56.  M¼ˆî‹ ð£´õF™ õ™ôõ˜

 (Ü) å†ì‚Ãˆî˜    (Ý) ¹è«ö‰F

 (Þ) è‹ð˜     (ß)  F¼ˆî‚è«îõ˜

57.  ªð£¼ˆ¶è:

 Ü. õ¼õ£¡           1. Þø‰îè£ô Þ¬ìG¬ô

 Ý. è£í£¡            2. Gè›è£ô Þ¬ìG¬ô

 Þ. ð£˜ˆî£¡            3. âF˜è£ô Þ¬ìG¬ô

 ß. ïì‚Aø£¡      4. âF˜ñ¬ø Þ¬ìG¬ô

  A B C D  

 Ü 3 4 1 2  

 Ý. 3 4 2 1  

 Þ. 4 3 1 2  

 ß. 4 3 2 1

58.  M¬ù„ ªê£ŸèO¡ â‡E‚¬èˆ «î˜è:

 Ü.ï£¡°     Ý. Í¡Á

 Þ. Þó‡´      ß. ÝÁ

59.  “Þ¶ ªêŒõ£ò£?” â¡Á MùMò«ð£¶ àì‹¹ ªï£‰î¶ & âù‚ ÃPò¶ âšõ¬è Mù£

 Ü. àÁõ¶ Ãø™    Ý. àŸø¶ à¬óˆî™

 Þ. Mù£ âF˜ Mù£î™   ß ñ¬øM¬ì

60.  àJ˜ â¿ˆ¶‹, Þ¬ì â¿ˆ¶‹ Hø‚°‹ Þì‹...

 Ü.ï£‚A¡ Ü®Šð°F   Ý. Í‚° 

 Þ.. è¿ˆ¶      ß. ñ£˜¹
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PART&III
ENGLISH

There are 30 questions in this part. All the questions are compulsory.

61.  What is the synonym for ‘Accoutrements’

  (a) Relatives     (b) Companions

 (c) Calculations    (d) Equipment

 

62. SENTENCE PATTERN 

 Identify the pattern of the following sentence.

 I sent my brother a card.

 (a) S V O C     (b) S V IO DO  

 (c) S V O A                                                                  (d) S V O

63. Choose the alternative which best expresses the meaning of the idiom/phrase given in bold

  To smell a rat

 (a) To misunderstand    (b) A bad smell

 (c) To see hidden meaning   (d) None of above.

64.  Find the incorrect sentence

 a) Her hair is curly.    b) One of his friends is a teacher.

 C) She got only passing marks.  d) We should not hate the poor.

65. What is the antonym for ‘Cryptic’

 (a) Famous     (b) Candid 

 (c) Futile      (d) Indifferent

66. Choose the appropriate preposition to complete the sentence.

   He went out ...... buying newspaper.

   (a) on      (b) for    

   (c) with                    (d) to

67.  Choose the right question tag:

   He saw a ghost, .....?

   (a) didn’t he     (b) doesn’t he  

   (c) won’t he           (d) did he
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68. Find out  the word of correct spelling

  a) sitting      b) agreing

 c) eyeeing      d) ironeing

69. Choose the correct verb form to complete the sentence.

 When my father came I ...... .

 (a) slept     (b) was sleeping   

 (c) sleep     d) is sleeping

 

70. Select the proper prefix or suffix for the given words..Loyal     

 A. in       B. ti      

 C. ty          D. an      

71. Identify the adjective:

  English is ……………….. difficult than Hindi.

 a) Fewer     b) Less

 c) Grater     d) lostest

72.  The name of a person, a place or a thing is called:

 a) pronoun     b) noun

 c) adjective     d) all of above

 In the following passage, there are blanks Each of which has been numbered. Against each number, 
four words are suggested Find out the a appropriate word in each case.

 Bird migration is the regular seasonal 73 undertaken by many species of birds. At a particular season 
thousands of birds travel from one place to another. One of the greatest mysteries of birds life is  74 or 
travelling. Every year during 75 and early winter, birds travel from their 76 haunts in northern regions 
of Asia, Europe and America to the southern, warmer lands. They make the 77 journey again during 
spring and early summer. They are very 78 too, unless they are delayed by the 79 Some species also move 
out of one area 80 another, not very far away. All birds have a certain amount of local 81 caused but the 
stresses of living and the variations in food supply. This kind of movement is particularly noticeable in 
North India where the 82 are defined.

73. A. Journey  B, fruits   C. food   D. rest
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74. A. mitigation  B. movement  C. migration  D. motion

75. A. spring  B. autumn  C. summer  D. winter

76. A. feeding  B. brooding  C. breeding  D. wading

77. A. return  B. onward  C. down ward  D. opportunity

78. A. early  B. late   C. punctual  D. any

79. A. wither  B. whatever  C. whether  D. weather

80. A. into  B. on   C. at   D. across

81. A. rest   B. work   C. movements  D. search

82. A. seasons  B. weather  C. climate  D. temperature

83.. The superlative of little is ___________

 a. less       b. most little

 c. least      d. as less

84..  The plural of box is boxes the plural of ox is ______

 a. oxes      b. oxen

 c. oxens      d. ox

85. Use the correct pronoun

  Boys are in the ground. _________ shirts are dirty 

 a. all       b. boys

 c. their      d. they

86. Fill in the blanks with correct homophone
    A 3
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  They  ---------- games regularly

 a) ply       b) plea  

 c) play     d) pley

87. Identify the correct COMPOUND sentence form:

  After wearing the gown she opened her jewelry box

 a. She wear the gown and the opened her box

 b. Being worn the gown. She opened her box

 c. Opening her box, she worn the gown

 d. She wore the gown and opened her jewelry box

 Choose the correct ANAGRAM

88.  Silent

 a. entisl     b. listen

 c. listed      d. tensil

89.  Santa 

 a. Santas      b. Santa’s

 c. Satan      d. Tasan

90.        I usually wear skirts, but today I -------- trousers.

     a) wearing                             b) wear

     c) am wearing                    d) wears
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ð°F & IV

PART - IV

èí‚° 

MATHEMATICS 

91.  å¼ °PŠH†ìˆ ªî£¬èò£ù¶ 6% õ†® iîˆF™ 3 Ý‡´èO™ 6,372 ÝAø¶ âQ™  
 Üê¬ô‚ è£‡è. 

 (Ü) 5400     (Ý) 5300

 (Þ) 5200     (ß) 5500

 A certain sum of money amounts to 6,372 in 3 years at 6 % Find the principal.

 (A) 5400     (B) 5300

 (C) 5200     (D) 5500

92. å¼ Hø‰î ï£œ Mö£M™ åšªõ£¼õ¼‚°‹ 6 Ü™ô¶ 12 Ü™ô¶ 15 ê£‚«ô†´èœ   
õöƒèŠð´Aø¶ â¡ø£™ Üõ˜èÀ‚° õöƒèˆ «î¬õŠð´‹ Iè‚ °¬ø‰î Ü÷¾   
ê£‚«ô†´èœ âˆî¬ù?

 (Ü) 30     (Ý) 60

 (Þ) 45     (ß) 120

 At the birthday function chocolates were distributed as 6 or 12 or 15 chocolates to each person.What  
is the least number of chocolates required?

 (A) 30      (B) 60

 (C) 45      (D) 120

93. 18 Ý†èœ å¼ «õ¬ô¬ò 20 ï£O™ ªêŒ¶ º®ˆî£˜èœ âQ™, Ü«î «õ¬ô¬ò 24 Ý†èœ 
ªêŒ¶ º®‚è â´ˆ¶‚ªè£œÀ‹ ï£œèO¡ â‡E‚¬è

 (Ü) 20 ï£œèœ    (Ý) 22 ï£œèœ

 (Þ) 21 ï£œèœ    (ß)  15 ï£œèœ 

 If 18 men can do a work in 20 days, then 24 men can do this work in

 (A)  20 days     (B) 22 days

 (C) 21 days     (D) 15 days

 

94. 
2
25

 = ...........%.

 (Ü) 25     (Ý) 4

 (Þ) 8      (ß) 15

 
2
25

 = _______ %.
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 (A)  25     (B) 4

 (C) 8      (D) 15

95. å¼ Ü½õôè‹ è£¬ô 10 ñEJL¼‰¶ HŸðè™ 5:45 õ¬ó Þòƒ°Aø¶. HŸðè™ 12:45  
ºî™ 1:30 õ¬ó àí¾ Þ¬ì«õ¬÷. Ü½õôè‹ õ£óˆF™ 6 ï£œèœ ÞòƒAù£™, å¼   
õ£óˆF™ Ü½õôè‹ Þòƒ°‹ ªñ£ˆî ñE «ïóˆ¬î‚ è£‡è.

 (Ü) 41     (Ý) 40

 (Þ) 42     (ß) 43

 An office functions from 10 in the morning till 5.45 in the evening with a lunch break in the   
afternoon from 12.45 to 1.30. If the office works for 6 days a week, find the total duration of   
working hours in a week.

 (A) 41      (B) 40

 (C) 42      (D) 43

96. 60 ñ£íõ˜èœ ªè£‡ì å¼ õ°ŠH™, ñ£íõ, ñ£íMèÀ‚° Þ¬ì«òò£ù MAî‹ 2:1  
âQ™, Üšõ°ŠH™ ñ£íõ, ñ£íMèO¡ â‡E‚¬è ò£¶?

 (Ü) 40,20     (Ý) 20,40

 (Þ) 30,30      (ß) 25,35

 If a class has 60 students and the ratio of boys to girls is 2:1, find the number of boys and girls.

 (A) 40,20     (B) 20,40 

 (C) 30,30     (D) 25,35

97. Cõ£ Ý‡ªì£¡Á‚° 5% õ†® ªè£´‚°‹ å¼ õƒAJ™  75,000ä 3 Ý‡´èÀ‚°   
Gó‰îó ¬õŠ¹ˆF†ìˆF™ ºîh´ ªêŒî£˜ âQ™, Üõ¼‚°‚ A¬ì‚°‹ ºF˜¾ˆ ªî£¬è  
â¡ù?

 (Ü)  89,000   (Ý) 88,250

 (Þ)  86,250    (ß)  87,250 

 Deva makes a fixed deposit of  75,000 in a bank for 3 years. If the rate of interest is 5% per annum,  
find the maturity value.

 (A)  89,000    (B)  88,250

 (C)  86,250    (D)  87,250

98. å¼ ªð£¼O¡ °Pˆî M¬ô  140. MŸð¬ù M¬ô  105 âQ™ îœÀð® ........

 (Ü)  245     (Ý)  25

 (Þ)  30     (ß)   35

 If M.P. =  140, S.P. =  105, then Discount = _______.
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 (A)   245     (B)  25

 (C)   30     (D)  35

99.  å¼ ¬ðJ¡ Üì‚èM¬ô  575 Ýè¾‹, MŸð¬ù M¬ô  625 Ýè¾‹ Þ¼‰î£™   
ªðø‚Ã®ò  Þô£ð‹

 (Ü)  50     (Ý)  575

 (Þ)  625      (ß)  Þ¬õ â¶I™¬ô

 If the cost price of a bag is 575 and the selling price is 625, then there is a profit of ̀

 (A) 50      (B) 575 

 (C) 625      (D) none of these

100.  (x + a) (x + b) = x2 – 5x - 300 âQ™ a2 + b2 Þ¡ ñFŠ¬ð‚ è£‡è.

 (Ü) 650     (Ý) 630 

 (Þ) 625      (ß)  620

 If (x + a) (x + b) = x2 – 5x - 300 , find the values of a2 + b2 .

 (A) 650     (B) 630

 (C) 625     (D) 620

101.  å¼ ªêšõè õ®õ Gô‹ 20 e c÷‹ ñŸÁ‹ 14 e Üèô‹ ªè£‡ì¶. Ü¬î„ ²ŸP   
ªõOŠ¹øˆF™ Ü¬ñ‰¶œ÷ Yó£ù Üèôºœ÷ ð£¬îJ¡ ðóŠ¹ 111 ê.e âQ™, ð£¬îJ¡  
Üèô‹ â¡ù?

 (Ü) 8/2 e     (Ý) 3/2 e

 (Þ) 5/3 e     (ß)  2/3e

 A rectangular field is 20 m long and 14 m wide. There is a path of equal width all around it having an  
area of 111 sq. metres. Find the width of the path on the outside.

 (A) 8/2 m     (B) 3/2 m

 (C) 5/3 m     (D) 2/3 m

102. Í¡Á ªõš«õÁ ïð˜èÀ‚° Í¡Á è®îƒèœ â¿îŠð†´ Í¡Á à¬øèO™    
Üõ˜èÀ‚è£ù Mô£êº‹ â¿îŠð†´œ÷ù. ºèõK¬òŠ ð£˜‚è£ñ«ô è®îƒè¬÷   
à¬øJL´‹«ð£¶ (i) â™ô£ è®îƒèÀ‹ ÜõŸPŸ°Kò êKò£ù à¬øJLì (ii) â™ô£   
è®îƒèÀ«ñ îõø£è à¬øJLì Gè›îè¾èœ è£‡è.

 (Ü)1/5      (Ý)2/3 

 (Þ)1/2      (ß) 1/3 

 Three letters are written to three different persons and addresses on three envelopes are also written.  
Without looking at the addresses, what is the probability that (i) all the letters go into right envelopes,  
(ii) none of the
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 letters goes into right envelopes?
 (A) 1/5     (B) 2/3

 (C) 1/2     (D) 1/3

103.  (20 + 4-1) x 22 =

 (a) 2      (b) 5   

 (c) 4      (d)  3

104.  å¼ «ï˜õ†ì F‡ñ‚ Ã‹H¡ Ýóº‹ ê£»òóº‹ 3 : 5 â¡ø MAîˆF™ àœ÷ù.   
Ü‚Ã‹H¡  õ¬÷ðóŠ¹ 60π ê.ªê.e âQ™, Üî¡ ªñ£ˆîŠ ¹øŠðóŠ¬ð‚ è£‡è.

 (Ü) 304 1/7 ªê.e2    (Ý)303 5/7ªê.e2 

 (Þ) 301 5/7ªê.e2    (ß) 302 5/7ªê.e2

 Radius and slant height of a solid right circular cone are in the ratio 3 : 5. If the curved surface area is  
60π sq.cm, then find its total surface area.

 (A) 304  1/7 cm2    (B) 303  5/7 cm2

 (C) 301  5/7 cm2    (D) 302  5/7 cm2

105. 14 ªê.e M†ìºœ÷ å¼ à¼¬÷ õ®õ °ö£Œ õNò£è, î‡a¬ó ñE‚° 15 A.e   
«õèˆF™ 50 e c÷º‹ ñŸÁ‹ 44 e Üèôºœ÷ å¼ ªêšõè õ®õ ªî£†®‚°œ   
ªê½ˆFù£™, ªî£†®J™ 21 ªê.e àòóˆFŸ° î‡a˜ Gó‹ð âˆî¬ù ñE «ïóñ£°‹? 

 (
22
7

π =  â¡è.)

 (Ü) 1 1/2 ñE     (Ý) 2 ñE

 (Þ) 2 1/2 ñE    (ß)  1 ñE

 Water is flowing at the rate of 15 km / hr through a cylindrical pipe of diameter 14 cm into a   
rectangular  tank which is 50 m long and 44 m wide. In how many hours will the water level in the  
tank raise by 21 cm? ( Take 22

7
π = )

 (A) 1  1/2 hours    (B) 2 hours

 (C) 2  1/2 hours     (D) 1 hours

106.  Þó‡´ Ã‹¹èœ êñ Ýóƒèœ ªè£‡´œ÷ù. «ñ½‹ ÜõŸP¡ ê£»òóƒèO¡ MAî‹ 4 :  
3 âQ™, õ¬÷ðóŠ¹èO¡ MAî‹

 (Ü) 16 : 9     (Ý) 2 : 3

 (Þ) 4 : 3     (ß)  3 : 4

 Two right circular cones have equal radii. If their slant heights are in the ratio 4 : 3, then their   
respective  curved surface areas are in the ratio

 (A) 16 : 9      (B) 2 : 3   

 (C) 4 : 3      (D) 3 : 4
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107. ºî™ Þ¼ð¶ Þò™ â‡èOL¼‰¶ å¼ º¿ â‡ êñõ£ŒŠ¹ º¬øJ™     
«î˜‰ªî´‚èŠð´Aø¶. Ü‰î â‡ å¼ ðè£ â‡í£è Þ¼ŠðîŸè£ù Gè›îèM¬ù‚   
è£‡è.

 (Ü) 1/5      (Ý) 2/5

 (Þ) 3/5     (ß)  4/5

 An integer is chosen from the first twenty natural numbers. What is the probability that it is a prime  
number?

 (A) 1/5     (B) 2/5

 (C) 3/5     (D) 4/5

108. å¼ ªð†®J™ 6 CõŠ¹, 4 ªõœ¬÷ ñŸÁ‹ 5 è¼Š¹ ð‰¶èœ àœ÷ù. ÜõŸPL¼‰¶   
4 ð‰¶è¬÷ å¼ ïð˜ êñõ£ŒŠ¹ º¬øJ™ â´‚Aø£˜. Üšõ£Á â´‚èŠð†ì ð‰¶èO™,   
åšªõ£¼ GøˆF½‹ °¬ø‰îð†ê‹ å¼ ð‰¶ Þ¼ŠðîŸè£ù Gè›îè¾ â¡ù?

 (Ü) 47/91     (Ý) 43/91

 (Þ) 48/91     (ß)  49/91

 A box contains 6 Red, 4 white and 5 black balls. A person draws 4 balls from the box at random.   
 Find  the probability that among the balls drawn there is atleast one ball of each colour.

 (A) 47/91     (B) 43/91

 (C) 48/91     (D) 49/91

109. 144ä ðè£‚ è£óEèO¡ Ü´‚°èO¡ ªð¼‚èô£è ÃÁè.

 (Ü) 23 x 34     (Ý) 24 x 33

 (Þ) 24 x 32     (ß) 23 x 32 

 Express the number 144 as a product of powers of prime factors.
 (A) 12     (B) 2 x 6

 (C) 24 x 32     (D) 22 x 34

110.  å¼ «î£†ì‚è£ó˜ êKõè õ®M™ ²õ˜ å¡P¬ù Ü¬ñ‚è F†ìI´Aø£˜. êKõèˆF¡   
c‡ì ºî™ õK¬ê‚° 97 ªêƒèŸèœ «î¬õŠð´Aø¶. H¡¹ åšªõ£¼ õK¬êJ¡   
Þ¼¹øº‹  Þó‡®ó‡´ ªêƒèŸèœ °¬øõ£è ¬õ‚è «õ‡´‹. Üšõ®õ¬ñŠH™ 25  
õK¬êèO¼ŠH¡, Üõ˜ õ£ƒè «õ‡®ò ªêƒèŸèO¡ â‡E‚¬è âˆî¬ù?

 (Ü) 1224 ªêƒèŸèœ   (Ý) 1225 ªêƒèŸèœ

 (Þ) 1774 ªêƒèŸèœ   (ß)  1354 ªêƒèŸèœ

 A gardener plans to construct a trapezoidal shaped structure in his garden. The longer side of   
trapezoid needs to start with a row of 97 bricks. Each row must be decreased by 2 bricks on   
each end and the construction should stop at 25th row. How many bricks does he need to buy?

 (A) 1224 bricks    (B)  1225 bricks

 (C) 1774 bricks    (D) 1354 bricks
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111.  50 «ð˜ ªè£‡ì GÁõùˆF¡ å¼ ð†®òL¼‰¶ 5 «ð¬ó, º¬ø ê£˜‰î ñ£FK‚ èEŠ¹  
º¬øJ™ «î˜‰ªî´‚è «õ‡´‹. Ü‹º¬øJ™ ºî™ â‡ 7 âQ™ Ü´ˆî â‡

 (Ü) 8     (Ý) 16

 (Þ) 17     (ß)  21

 Five establishments are to be selected from a list of 50 establishments by systematic random   
sampling. If the first number is 7, the next one is

 (a) 8       (b) 16     

 (c) 17       (d) 21

112.  å¼ ªî£ìK¡ â‰î ñFŠð£ù¶ 10 êñð£èƒè÷£èŠ HK‚Aø¶

 (Ü) è£™ñ£ùƒèœ    (Ý) ðF¡ñ£ùƒèœ

 (Þ) Þ¬ìG¬ô    (ß)  ËŸÁñùƒèœ

 The variate values which divide a series (frequency distribution ) into ten equal parts are called :

 a). quartiles      b) deciles   

 c) octiles      d) percentiles

113.  30, 50, 40, 10, 20 Þ¡ Þ¬ìG¬ô

 (Ü) 40     (Ý) 20

 (Þ) 30     (ß)  10

 The median of 30,50, 40, 10, 20 is

 (A) 40      (B) 20   

 (C) 30      (D) 10

114.  å¼ ¹œO MõóˆF¡ Mô‚è õ˜‚è êó£êK 12.25 âQ™, Üî¡ F†ì Mô‚è‹

 (Ü) 3.5     (Ý) 3

 (Þ) 2.5     (ß) 3.25  

 If the variance of a data is 12.25, then the S.D is

 (A) 3.5      (B) 3   

 (C) 2.5      (D) 3.25

115. 8888 + 888 + 88 + 8 = ? 

 (A) 9872     (B) 9888  

 (C) 9827     (D) 9873

 8888 + 888 + 88 + 8 = ? 

 (A) 9872     (B) 9888  
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  (C) 9827     (D) 9873

116. A : B = 2 : 3, B : C = 5 : 7 âQ™ A : B : C-¡ ñFŠ¹ è£‡è. 

 (A) 10 : 21 : 15    (B) 15 : 10 : 21   

 (C) 10 : 15 : 21     (D) 21 : 10 : 15

 If A : B = 2 : 3, B : C = 5 : 7 then A : B : C is

 (A) 10 : 21 : 15    (B) 15 : 10 : 21   

  (C) 10 : 15 : 21     (D) 21 : 10 : 15

117. ÝÁ ió˜è¬÷ ªè£‡ì å¼ ê¶óƒè «ð£†®J™ åšªõ£¼ M¬÷ò£†´ ió¼‹ ñŸø ió˜èÀì¡ 
å¼º¬ø M¬÷ò£®ù£™ Üƒ° âˆî¬ù Ý†ìƒèœ M¬÷ò£ìŠð´‹? 

  (A) 12     (B) 15   

  (C) 30      (D) 36

  In a chess tournament each of the six players will play with even other polayers exactly once. How 
many matches will be played during the tournament?

  (A) 12     (B) 15   

  (C) 30      (D) 36

118. å¼ õ°ˆF ñ†´‹ ªè£‡ì â‡ “1” Ýù¶ 

 A. ð° â‡     B) ðè£ â‡  

 C) ð° â‡ (Ü) ðè£ â‡   D) ð° â‡í‹ Ü™ô , ðè£ â‡í‹ Ü™ô 

 ‘1’ Contains only one divisor which is a 

 A) Composite Numbers     B) Prime Numbers 

 C) Composite (or) Prime Numbers   D) Not Composite nor Prime Numbers

119.  12.25 Þ¡ õ˜‚è  Íô‹

 THE Square root of 12.25  

 A)35        B) 3.5 

 C)350       D)1225 

120.  ñì‚¬è¬ò è‡´ H®ˆîõ˜ 

 Logarithms are discovered by 

 A)ü£˜x «è‡ì˜  / George Canter  

 B)  George Venn / ü£˜x ªõ¡  

 C) John Napiar / ü£¡ «ïŠHò˜   

 D) Mercy  / ªñ˜R 
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ð°F & V

PART - V

EVS

121.  îI›ï£†®¡ ªïê¾ î¬ôïèó‹.... Ý°‹

 Ü. ß«ó£´     Ý. F¼ŠÌ˜  

 Þ. èÏ˜     ß. è£…C¹ó‹

  ----------- is the textile Captal of TamilNadu

 A) Erode B) Thiruppur C) Karur D) Kanchipuram

122.  Þ‰Fò£M¡ vH‚ GÁõù‹ ÜFè ............ àŸðˆF ªêŒ»‹

 Ü. Þóê£òù‹    Ý. àó‹  

 Þ. e¡     ß. ªð†«ó£™

 SPIC is the largest producer of ---------- in India

 A) Chemicals  B) Fertilizer C) fish   D) petrol

123.  îI›ï£†®¡ .......... ð£ó‹ðKò‹ I‚è îQˆî ªïê¾ îóˆFŸè£è àôèªñƒA½‹ ¹è›ªðŸø¶

 Ü. F¼¹õù‹    Ý. «êô‹  

 Þ. è£…C¹ó‹     ß. ÝóE

 The famous  silk Industries to the world is -----------

 A) Thirubuvanam  B) Salem C) Kanchipuram D) Aarani

124.  ªî¡Q‰Fò£M¡ ñ£¡ªêvì˜

 Ü. ªê¡¬ù     Ý. º‹¬ð  

 Þ. ß«ó£´     ß. «è£ò‹¹ˆÉ˜

 Manchester of SouthIndia ------------

 A) Chennai B) Mumbai C) Erode D) Coimbatore

125.  ªîŸè£Cò£M¡ ªì†ó£Œ† âù Ü¬ö‚èŠð´õ¶

 Ü. è£…C¹ó‹     Ý. M¿Š¹ó‹  

 Þ. ªê¡¬ù     ß. «è£ò‹¹ˆÉ˜

 Detroit of SouthIndia is ------------ 

 A) Kanchipuram B) Villupuram  C) Chennai   D) Coimbatore
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126.  Þ¬íŠ¹Šªð†® ªî£NŸê£¬ô....... Ü¬ñ‰¶œ÷¶

 Ü. Ýõ®     Ý. èÏ˜  

 Þ. Cõè£C     ß. ªðó‹Ì˜

 Railway Coaches manufactured at ---------

 A) Avadi B) Karur C) Sivakasi D) Perambure

127.  Þó‡ì£‹ ÜHQ «ð£¬ó º®¾‚° ªè£‡´ õ‰î àì¡ð®‚¬è

 Ü. è£¡ì¡     Ý. ú£¡´ƒ  

 Þ. dAƒ     ß. ï£¡Aƒ

 The second Opium  war  came to end try the treaty of -------------

 A) Candon B) Shandung C) Peking D) Nanking

128.  ÝƒAô Aö‚A‰Fò õEè‚°¿ «î£ŸÁM‚èŠð†ì Ý‡´

 Ü. 31 ®ê‹ð˜ 1600    Ý. 31 ®ê‹ð˜ 1664  

 Þ. 31 ®ê‹ð˜ 1764    ß. 31 ®ê‹ð˜ 1608

 The English east India Company formed in ----------

 A)  31 Dec 1600 B) 31 Dec 1664

 C) 31 Dec 1764 D) 31 Dec 1608

129.  ð£gv Ü¬ñF ñ£ï£´ ï¬ìªðŸø Ý‡´

 Ü. 1894     Ý. 1854  

 Þ. 1919     ß. 1911

 The paris peace conference was held --------------

 A) 1894 B) 1854  C) 1919  D)1911

130.  Hªó…² Aö‚A‰Fò õEè‚°¿ à¼õ£‚èŠð†ì Ý‡´

 Ü. 1600     Ý. 1857  

 Þ. 1664     ß. 1800

 French East India Company estabilished in the  year

 A) 1600     B) 1857 

 C) 1664       D) 1800

131.  H÷£CŠ«ð£˜ ãŸð†ì Ý‡´

 Ü. 1764     Ý. 1757  
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 Þ. 1858     ß. 1857

 The battle of Plassey in  the year  ------------

 A) 1764     B) 1757 

 C) 1858        D) 1857

132.  ¶¬íŠð¬ìˆ F†ìˆ¬î à¼õ£‚Aòõ˜

 Ü. ì™ªý÷C Hó¹    Ý. è˜ê¡ Hó¹ 

 Þ. KŠð¡ Hó¹    ß. ªõ™ªôvR Hó¹

  ------------ Introduced the subsidiary Alliance system

 A) Lord Dalhousie    B) Lord Curzon 

 C) Lord Rippon     D) Lord Wellesely

133.  ð£‚ê˜ ¹ó†C ãŸð†ì Ý‡´

 Ü. 1894     Ý. 1904-  

 Þ. 1899     ß. 1911

 Boxer Rebellion took in-------------

 A) 1894     B)  1904  

  C) 1899     D) 1911

134.  ºî™ àôèŠ«ð£¬ó º®¾‚° ªè£‡´ õ‰î¶

 Ü. ð£gv Ü¬ñF ñ£ï£´   Ý. ªð˜L¡ Ü¬ñF ñ£ï£´  

 Þ. «ó£‹ Ü¬ñF ñ£ï£´   ß. ô‡ì¡ Ü¬ñF ñ£ï£´

 The first world war came to an end by the 

 A) Paris Peace conference   B) Berlin peace conference

 C) Rome Peace conference   D) London peace  conference

135.  º‚Ã†´ àì¡ð®‚¬è ãŸð†ì Ý‡´

 Ü. 1883     Ý. 1882  

 Þ. 1885     ß. 1907

 Triple Alliance was signed--------------

 A) 1883     B) 1882 

 C) 1885     D) 1907

136. ªð˜L¡ ñ£ï£´ ï¬ìªðŸø Ý‡´

 Ü. 1883     Ý. 1882  
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 Þ. 1878     ß. 1913

 Berlin   Conference was held-----------

 A) 1883     B) 1882       

 C) 1878              D) 1913

137.  ²«îC èŠð™ GÁõùˆ¬îˆ «î£ŸÁMˆîõ˜

 (Ü) Fôè˜     (Ý) è£‰FT

 (Þ) Cî‹ðóù£˜    (ß)  Þó£ü£T

 Swadesh steam navigation was founded by

 (a) Tilak     (b) Gandhiji

 (c) V.O. Chidambaram    (d) Rajaji

138.  è£‰FT èô‰¶ ªè£‡ì¶

 (Ü) ºî™ õ†ì «ñ¬ü ñ£ï£´  (Ý) 2õ¶ õ†ì «ñ¬ü ñ£ï£´

 (Þ) 2õ¶, 3õ¶ õ†ì «ñ¬ü ñ£ï£´èœ (ß) ºî™, 3õ¶ õ†ì «ñ¬ü ñ£ï£´èœ

  Gandhiji participated in the

 (a) I round table conference

 (b) II round table conference

 (c) II and III round table conference

 (d) I and III round table conference

139.  Þ‰Fò ÜóCòô¬ñŠ¹ ê†ì‹ Üºô£‚Aò ªð£¿¶ ÜF™ Þ¼‰î ªñ£ˆî ûóˆ¶èœ

 (Ü) 350     (Ý) 360

 (Þ) 390     (ß)  395

 The number of articles in the Indian constitution at the time of its adoption was

 (a) 350     (b) 360

 (c) 390     (d) 395 

140. âŠªð£¿¶ °®òó²ˆî¬ôõ˜ õ£K²„ ê†ì‹ ÞòŸøŠð†ì¶?

 (Ü) 1955     (Ý) 1959

 (Þ) 1964     (ß)  1969

 When was the President’s succession act enacted?

 (a) 1955     (b) 1959

 (c) 1964     (d) 1969 
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141.  å¼ ªô¡R¡ Fø¬ù  (Power of a lens) Ü÷M´‹ Üô°

  A) ü§™     B) «è¡†ô£ 

  C) ªìCªð™     D) ìò£Šì˜ 

 The power of a lens is measure in

 (a) joule     (b) candela

 (c) decibel     (d) dioptre 

142.  «ôê˜ è¼Mò£™........................ à¼õ£A¡øù

  A) è£‰î Ü¬ôèœ    B) ¬ñ‚«ó£ Ü¬ôèœ 

  C) åKò™ åO Ü¬ôèœ   D) X- èF˜èœ 

 Laser is a device to produce

 (a) magnetic waves    (b) micro waves

 (c) coherent waves    (d) x-rays

143.  ð£™ è¬ìòŠð´‹ «ð£¶, ªõ‡ªíŒ HKˆªî´‚èŠðì è£óí‹

  A) ¬ñò«ï£‚° M¬ê    B) ¬ñòMô‚° M¬ê 

  C) àó£Œ¾ M¬ê    D) ß˜Š¹ M¬ê 

 When milk is churned, cream gets separated due to

 (a) centripetal force    (b) centrifugal force

 (c) frictional force    (d) gravitational force

144.  à«ô£èƒèœ 

 (Ü) âô‚†ó£¡è¬÷ ªðÁA¡øù  (Ý) âô‚†ó£¡è¬÷ Þö‚A¡øù

 (Þ) ¹«ó£†ì£¡è¬÷ ªðÁA¡øù  (ß)  ¹«ó£†ì£¡è¬÷ Þö‚A¡øù

 Metals 

 (a) gain electrons    (b) lose electrons

 (c) gain protons    (d) lose protons

145.  G‚«è£®¡ å¼

 (Ü) Ü™èô£Œ´    (Ý) ªì˜d¡

 (Þ) ¹«ó£†¯¡    (ß)  v®ó£Œ´

 Nicotine is

 (a) Alkaloid     (b) Terpene

 (c) Protein     (d) Steroid
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146.  ¬ï†óü¬ù‚ è‡ìPò àî¾‹ «ê£î¬ù

 (Ü) è£Kòv «ê£î¬ù   (Ý) ô£ê£ŒAª÷¡v «ê£î¬ù

 (Þ) «ê£ì£ ¬ôˆ «ê£î¬ù   (ß)  ªü™ì£™ «ê£î¬ù

 Estimation of nitrogen is done by

 (a) carius method    (b) kassaigne’s method

 (c) soda-lime test    (d) kjeldahl’s method

147.  ð£Ö†®èO™ ÎKò£ âF™ à¼õ£‚èŠð´Aø¶?

 (Ü) CÁcóè‹    (Ý) Þóˆî‹  

 (Þ) è™hó™     (ß)  î¬êèœ

  Urea in mammals is formed in the

  (a) Kidney     (b) Blood  

  (c) Liver     (d) Muscles

148.  H÷£v«ñ£®ò‹ Þîù£™ èìˆîŠð´Aø¶.

 (Ü) ãªìv     (Ý) ñvè£  

 (Þ) Ü«ù£çHªôv     (ß)  ãHv

  Plasmodium is transmitted by

  (a) Ades     (b) Musca  

  (c) Anopheles     (d) Apis

149.  Þ¼œ M¬ù ï¬ìªðø Þ¶ «î¬õJ™¬ô

 (Ü) c˜     (Ý) ÅKò åO

 (Þ) CO2     (ß)  ð„¬êò‹

  Dark reaction does not requite

  (a) Water     (b) Sunlight

  (c) CO2     (d) Chlorophyll

150. èìŸðòíˆF™ «õèˆ¬î °P‚°‹ Üô°

 (Ü) õNˆîì‹     (Ý) F¬ê‚è£†®

 (Þ) ï£†     (ß)  ì¡

  It is a unit of speed in navigation

  (a) track     (b) compass

  (c) knot     (d) ton
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evaluation by computer diifficult.  Any resultant loss to the condiate on the above accounts shall be of the candiate only.

14. ÞÁF ñE åLŠðîŸ° º¡ â‰î å¼ M‡íŠðî£ó¼‹ «î˜¾ Ü¬ø¬ò M†´ ªõO«òø‚Ãì£¶.  «î˜¾ Ü¬ø¬ò M†´„ ªê™½‹ º¡¹   
M¬ìˆî£¬÷ Ü¬ø‚ è‡è£EŠð£÷Kì‹ êñ˜ŠH‚è «õ‡´‹.  Mù£ˆªî£°ŠH¬ù M‡íŠðî£ó«ó â´ˆ¶ ªê™ôô£‹.

 No candiate should leave the Examination Hall before the final bell.  The OMR  Answer Sheet be handed over to the Invigilator beofore leaving the Examination 
Hall.  The candiate is allowed to take  the Question Booklet with him/ her.

15.  îõø£è Ì˜ˆF ªêŒòŠð´‹ / ªêŒòŠðì£ñ™ àœ÷  OMR M¬ìˆî£œèÀ‚° ñFŠªð‡èœ °¬ø‚èŠð´‹.
 Marks will be deducted if the OMR is filled up wrongly / unfilled.

°PŠ¹èœ / INSTRUCTIONS 
(èõùñ£è ð®ˆ¶ Üî¡ð® ïì‚è¾‹ / Read carefully and comply)

º‚Aò °PŠ¹èœ / IMPORTANT
1  ð°F II ™ ( ªñ£N 1) M‡íŠðî£ó˜ Þ¬íòˆF™ M‡íŠðˆ¬î Ì˜ˆF ªêŒò «ï˜‰ªî´ˆî ªñ£N 1 ¡ Mù£‚è¬÷ M¬ìòO‚è «õ‡´‹.
 In part II (Language I) a candidate has to attempt the questions of the language which the candidate has selected as language I in the Application Form.
2. OMR  M¬ìˆî£O™, Mù£îªî£°Š¹ õK¬ê â‡¬í ÜîŸªèù îóŠð†´œ÷ ÞìˆF™ M‡íŠðî£ó«ó êKò£è GóŠð «õ‡´‹. 
 The candiate mujst ensure that the Qustion Booklet Series code has been filled  correctly at the prescribed places in the OMR  Answer Sheet.
3.  M‡íŠðî£ó˜ M‡íŠðˆF™ «î˜‰ªî´ˆîõ£Á ð°F &  IV  ( HK¾ A ) èEî‹ ñŸÁ‹ ÜPMò™ Ü™ô¶ ð°F  IV  (HK¾& B)êÍèMò™ 

ð°F‚° M¬ìòO‚è «õ‡´‹. M‡íŠðˆF™ «î˜‰ªî´ˆîõ£Á ªñ£N ñŸÁ‹ ð£ìŠð°F Mù£‚èÀ‚°  ã«îÂ‹ å¼ M‡íŠðî£ó˜ 
M¬ìòO‚è îõPù£™, Þ¶ îõø£è‚ è¼îŠð´‹  «ñ½‹  ÞˆîõPŸ° M‡íŠðî£ó«ó ªð£ÁŠð£õ£˜. 

 The candiate has to answer that subject in Part - IV ( Section A) Mathematics and  Science or part - IV ( Section B ) Social  studies as selected by him/  her  in the 
Application Form.  If a candiate answers the questions of the language or subject other than selected in the Application Form, the  candiate  shall be  personally 
responsible for it and it would be treated as wrong.

êKò£ù º¬ø :
Correct method:

îõø£ù º¬ø :
Wrong method:

Correct Correct Correct Correct Correct
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